1.

tand = 4 9 W), sin? A - cos? A 9] & Tl (& 0° < A < 00°
)

> =
15
> "E: o

4
tanA:I olmg

7,
7 I\
/

\
/I ‘\
a7/ i
W
o
A‘l’
2 2 ( 4 )2 (
sin“A —cos“A = — | -
A
“TTToTw

1 2
)
15\/_




oh2 232 e doprh 2 o A5 A

=
Aloltt. /CEG = x € W, sinx+ cosx &

T __

e Totd? B
B}

F/

G»x@+%§ G Y6-V3

3 3

CE=2V3

EG =22

CG=20°]B8

. _ 2 2V2 3+ VB

51nx+cosx—2\/§+2‘/_ = o]},




A D
/S 7
.8

®3 @3V ®30V ®32v2 O 32V

~&B

(BAAME ABCD o] Hol)

X 10 X 6 X sin45° X 2

V2

1
=-X10X6X — X2
2 06 2

=30v2

1
2

A D

v

B~——0——-=¢C




AH 3 AH 3
i :—:—O__U_ _— = —
sin B T 5 R=%=3 1 > =3
~AH =23, BH= /42 -(2V3)2=2
AH V3 2vV3 V3
i :=:—OEE__ = —( .
sin C NG 3 ] 0 3 iz

~AC=6, HC = /62 - (2V3)2 =26

s HC =24




th2 133} Zo] AB = 200m, /ABQ = 90°, /BAQ = 30° |1,
B 24 7177t Sl= P A= St & Zo] 60° & o, 7]+9]
Eo]E oozt

> £ m

> EE 200 m
BQ

tan 30° = ——~

an 3 200

S 3 200V3

BQ:200tan30°:200x‘/?_ - 3\/_ (m)
PQ —— _

tan 60° = =Q, PQ = tan 60° x BQ
BQ

— 200 V3
.. PQ= V3x 3‘/_ =200 (m)




the 23 2 C = 90° Q) A7

A
ABC 4] CDLAB, DELAC ¢ uj, AADE 9]
Hol?
D
(5 60°
“~8cm--"
@ 18cm? @ 18 V2cm? ® 18.5¢cm?
@®)18 v3cm? ® 18 +v6cm?
CD CD V3 —
/\ i @ = —_—= — = — = o
ABCD ©J|A] sin 60 — = 5 D =4+3cm o]t}
DE DE _
ACDE 9| A sin60° = =— = — = ﬁ, E = 6cm ©]Th.
CD 43 2
AABC 7} AZHARZEg ol B2 /A = 30° 0]3’_, (ADE = 60°
o|ch.
AE AE S
Uil'al'/‘:l tan60°® = — = — = \/g,AE = 6\/3 O‘IT:I-.
DE 6
1
Yol 3 % 6 V3 x 6 = 18 V3(cm?) o]t}




